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x? —2x —4 = 0 denkleminin iki kokii X1 Ve x, olmak {izere Xf + X% kagtir?

(Letx; andx, be the roots of the equation x? — 2x — 4 = 0.What is x3 + x3?)
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5 dgretmen ve 4 doktor arasindan 3 kisilik bir grup olusturulacaktir. Bu grupta en az 2
ogretmen olma olasilig1 nedir?

(Out of 5 teachersand 4 doctors, a groupconsisting of 3 personswill be formed. What is the
probabilityof at least two teachers being in thisgroup?)
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Reel sayilar kiimesinde tanimlanan A islemi igin xAy =x.y+ 2 (yAx) olduguna gore
(2A1) =2

( LetA be an operation on real number swith xAy = x.y + 2(yAx).What is (2A1) ?)
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f (x)fonksiyonunun siireksiz oldugu noktalar kiimesi asagidakilerden hangisidir?

( What are the points around f'(x) where the function is discontinuous? )
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ABCDbir paralelkenar (parallelogram)
[DF]agiortay ( bisector )

[CE]aciortay ( bisector )

IDG| = 8cm, |CG| = 15 cm, |EF| = 5 cm

|BC| =?
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D 5 C ABCD bir yamuk (trapezoid)
10 m(DAB) = 65'm(ABC) = 50°
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A, B, D ¢ember lizerinde ( on thecircle)

A)10 B)= Cyy D)15

ABCDbir doértgen (quadrangle)

Alan(ADE) = 8 cm? ( Area(ADE) = 8
cm?)

3|DE| = 4|EB|
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Alan(ABC) =?(Area(ABC) =?)
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m(CPD)= 20°
m(CED)= 70°
m(DC)= x

m(AB)= yy =?

[CE, B noktasinda ¢embere tegettir ( [CE is
tangent to the circle at B).

|AB| = 10cm, |BC| = 6 cm
|CD| = 4cm

|BD| =?
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d, dogrusuyla d, dogrusunun kesim
noktasi A(x, y)olsun ( LetA(x, y) be
the intersection point of thelines d; and d,)
|0B| = |0D| = v3cm
|OC| = 9cm
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Yukaridaki ti¢ sekli hangisi takip etmelidir? (Whichone should come after these 3 figures
above?)
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Yukaridaki agik sekli katladiginizda hangi kiip meydana gelir?

(Which cube is formed when you fold the open figiire above?)
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Sekil 1 Sekil 2
Figure 1 Figure 2
Sekil 1’1 elde etmek i¢in asagidakilerden hangisi Sekil 2’nin iistiine konmalidir?

(Which one of the figures below should be put over Figure 2 obtain Figure 1?)

R R Sl

Yukaridaki sekil 180 derece dondiiriildiigiinde hangi sekil elde edilir?
(Which figure is obtained byrotating the figiire above 180 degrees?)

AR e
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Asagidaki dizilerden hangisi digerlerinden farklidir? (Which series below is different than
the others?)
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Istiklal Marsi’nin sairi kimdir?
Who is the poet of the Turkish National Anthem?

A) Ziya Gokalp

B) Mehmet Akif Ersoy
C) Resat Nuri Giintekin
D) Orhan Veli Kanik

E) Yahya Kemal Beyatlh

Tiirkiye'nin asagidaki hangi orgiite iiyeligi bulunmaktadir?
Which one of the following organizations is Turkey a member of?
A) NATO
B) OPEC
C) G-8 Birligi(union)
D) BDT (Independentstatecommunity)

E) Avrupa Birligi (Europeanunion)

Tiirkiye Cumhuriyeti’nin kurucusu kimdir?
Who is the founder of the Republic of Turkey?
A) Ismet In6nii
B) Mustafa Kemal Atatiirk
C) Celal Bayar
D) Adnan Menderes
E) Cemal Giirsel

Yaptig1 referandum ile Avrupa birliginden ayrilma karar alan (brexit) ada iilkesi
hangisidir?

Which one of the followings is the island country that decided to leave the European
Union (brexit) with a referandum?
A) Ingiltere

B) Norveg
C) izlanda
D) Italya

E) isvicre
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